TS SET

Notations:
1.0ptions shown in green color and with #" icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Subject Name : MATHEMATICAL SCIENCES
Duration: 180
Total Marks: 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required?: No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? Yes
Change Font Color: No
Change Background Color : No
Change Theme: No
Help Button: No
Show Reports : No

Show Progress Bar : No



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Group 1

1
51714466
0

180

No

No

300
No
Cant View

No

Paper I

517144131
1

Online
Mandatory
42

42

100

Yes

0

1
517144403
Yes

null



Question Number : 1 Question Id : 5171449893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following factors can influence a student's motivation to learn?
% HINY o) ®oToen Qg0 o7 (D8 (Harddo dakaw.

Options:

Genetic makeup
285308 Qoeso

Socioeconomic status

) o Bt @fE ©odl)

Weather conditions

aeentics mBaeen
3. ® C

Political affiliation
oredcdh ehaoto

Question Number : 2 Question Id : 5171449894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

You are a school administrator aiming to improve the institution's learning
environment. What steps could you take to achieve this goal? Select the
most appropriate options.
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Options :

Implement rigid rules without student input.
_— é‘&mﬂgﬂﬁﬁgm Ge 58S Some E65% Dohdred evendaing

Offer a variety of extracurricular activities.

2. D arwegoBss SeEyBEireD [HaarHoHe

Ignore feedback from teachers and students.
Gsargrgdinen, &}m@%}@ ed)arairein ﬁ%aiﬁjgﬁéeiﬁm

Keep the institution's culture unchanged.
0w ﬁeﬁ&@é’] St Dot
4, % . >

Question Number : 3 Question Id : 5171449895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is a primary objective of learner-centered teaching?

ALap3) éo@é&,é 5558 (e 0¥ ©g0 b ?

Options:

Transmitting facts and information to students.

- SPRIETPORD, DETPTPTRR) E}mgﬁ]meéj Hoed

Encouraging rote memorization of concepts.
é@ﬂdﬁnﬁw %ﬁé 38 e (88)Erohe



Fostering critical thinking and independent learning.

- 8o eeP5S 298ols @grgisineid DOoEroBOoHe

Limiting student engagement to assessments only

. Do dairhobeR: Hbohet Sr@ H88hEo Jaine
4.

Question Number : 4 Question Id : 5171449896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the main objective of MOOCs?
MOOCs (S5 oFghdd

Options :

To offer degree programs exclusively online.
BIf seEyESre aSshe® HrEa woliding

1. ®

To provide high-cost specialized courses.
5 % @808 dh @"}5@% arSyEHEne dovtn Saknt

To offer free and open access to a wide range of courses.

DYS %) arEESrod ©otbs & 553%0 EDyohé
3. ¢

To limit access to courses for enrolled students only.

g BT L}’.ﬁﬁ-ﬂ“éﬁ& éﬁ]iﬁﬁ”’mﬁe’a& AAENeVDIY Hom(gsh $HB8heéo Dadne
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Question Number : 5 Question Id : 5171449897 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0
VWhat does ICT stand for in the context of education?

D5 Howofod ICT B8 HSowofodod ?

Options :

1 % Interactive Classroom Teaching

5 % Integrated Curriculum Training

3 ¢ Information and Communication Technology

. International Computer Tools

Question Number : 6 Question Id : 5171449898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the primary objective of descriptive research?
DY 508555 sy ©F50 0dh?

Options :

To manipulate variables and establish cause-and-effect relationships

| % Serodon 8y, sele (Hgrd Sowoprd)) Joften

To explore and understand a phenomenon in its natural setting

- el D eznbie (ﬁéﬁéﬁlﬁmm& @35310&, @goé"n}a?é}h



To predict future outcomes based on historical data
. m&@vé&é Heeod eset08° D HDareh ®OoSaracines

To test hypotheses and theories using statistical analysis
Herod DFsies SH@PA HOZeBeD o delololy H08050e

Question Number : 7 Question Id : 5171449899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is a central tenet of positivist research philosophy?
émé&é ﬁﬁréﬁdﬁmﬂééﬁ‘@ S0l Hor|$ahd?

Options :

Reality is subjective and can be understood differently by different individuals.

TIDES diSDHHE DAY o DY Sstene ©BosTHS)D
1. %

Research findings are shaped by personal biases and opinions.
5888 D s58ne ;’:ué%vaﬁ@eﬁﬁ, ©f|aroires® SndiF.

2. ®
Research should focus on understanding the underlying meanings and
interpretations of participants.
i\“eﬁ{fﬂ 0 ©0SBED @, DHBeo ©5o SBoee® $68%5%
a1 erd.

3. %

Knowledge can be acquired through objective observation and measurement.
N gars 58808&", BPeds PR HoartodHb.
4.



Question Number : 8 Question Id : 5171449900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the purpose of the literature review in the research process?
50855 (HBHS® Kol ‘ef:ihé ﬁé%ﬁpﬂb 7

Options :

To collect primary data from participants
S arBi0s [REnY Barod WESH

1. %

To summarize the research findings

. 568 PDared Holiirohe
2. %

To identify gaps in existing knowledge and establish a theoretical framework
Bl a;?»’aoefiﬁ ©odoroih 10807, dEpod ErHSe)d Ealelvilolaletnyliy
3.«

To draw conclusions and make recommendations

SohoHer B0 LrSden Tk
4. %

Question Number : 9 Question Id : 5171449901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The abstract in a thesis typically:
ErHE 56805 a7 DoisTesin



Options :

Contains detailed descriptions of all research methods
@) 56885 étééam Do DdBesdweny BOHA Gotrow

1. %

Is placed at the end of the thesis
- Qo8 oo DHY BB

Summarizes the main points of the thesis in a concise manner
3 ¢ QEPOB® ag0eY) Bgy DRATED B08% BrHos Holirdnod.

Lists all the references used in the thesis
E}E};DE@ m@é&’méﬁ SDArA0DN el SolDbodoih erder 3@0&.
4. %

Question Number : 10 Question Id : 5171449902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Plagiarism in research refers to:
50855568 (508 FEgEm @b

Options :

Collecting data from multiple sources to ensure accuracy

1% AN L NIV FrothHn 2d0d HHthe Hol Sarod 2¥8em

Properly citing and referencing sources used in the research

, % DOEEIS SIAEACDD HihedH o eHTDoD (HIDoDHL



Using others' ideas, words, or work without giving proper credit
08 HBGH FBHo andome adthe e’ Skom, Srbem, H0 SHBPR0DHE

Sharing research findings with the public
508587 HDerod [Heed® HoHE e

4. %
Sub-Section Number : 2
Sub-Section Id : 517144404
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 5171449903 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No
Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
K508 (Botl sl Sirarbo egrdore Q. 11506 Q 15 REEH Jirgrree (Frdbod.

Some of my critics have said, “Oh, he is a good observer, but he has no power of

reasoning!” | do not think that this can be true, for my ‘Origin of Species’ is one long
argument from the beginning to the end, and it has convinced not a few able men. No one
could have written it without having some power of reasoning. | have a fair share of
invention, and of common sense or judgment, such as every fairly successful lawyer or
doctor must have, but not, | believe, in any higher degree. On the favourable side of the
balance, | think that | am superior to the common run of men in noticing things which easily
escape attention, and in observing them carefully. My industry has been nearly as great as
it could have been in the observation and collection of facts. What is far more important, my

love of natural science has been steady and ardent.
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Sub questions

Question Number : 11 Question Id : 5171449904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Critics condemned the author for want of
336’336%53@ BSonéssn DHGHHnS® Ho&oTet.

Options:



common sense
“&Dﬁé&;‘:ﬁo

reasoning

» @*16375‘0

communication skills
% @oa Jayeago

creativity
. Qears)Es

Question Number : 12 Question Id : 5171449905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The above excerpt is taken from the autobiography of
2 arorodo a&)EE Hod H:508%808

Options :

Charles Darwin
1 ¢ @00 o8

Erasmus Darwin
BNl 0a8) ) m&&ﬁ

Alfred Russel Wallace
@6 S)d a8



Charles Lyell.
80 HAhS
4.

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.

Question Number : 13 Question Id : 5171449906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The author feels that successful lawyers and doctors are
Deschidoshd argaharthen HHBain Jthgen @) Soné erdarh.

Options:

generous
STPERETE)ED

observers
H68e%en

industrious
(¥ dshen

decision makers
o8 e &gdﬁao POV Evie)

Question Number : 14 Question Id : 5171449907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

The author’s inclination for compiling facts, reflects his
FHare Hodebo Dahios® GSonds Ging) i), @S 0 (2880806

Options :

Diligence
é@ﬁé Seeed)
v

Reasoning
5 x =°BBo

decision making

_ Dscho &I &S
3. W £

motivation

4. ® @363@

Question Number : 15 Question Id : 5171449908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The synonym for the word-"ardent" is
VSV 03 S8 ESlepNov il

Options :

insubstantial
080N

impatience

5 % a0



eager

&@3?’&30
3. v

frail
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Sub-Section Number : 3
Sub-Section Id : 517144405
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 16 Question Id : 5171449909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

communication helps in remembering details of earlier
conversations and interactions.
éeﬁnéﬁ}éQS DG Dogragsen B HBNY Sbse AdHTeein

1HB805HE S K0 BiBahnthdod

Options:

retentive
1 P06 8

reliable
é@éﬁﬁﬁ&é

inquisitive
B
=i



consistent
E@:iﬂ@?ﬁ

Question Number : 17 Question Id : 5171449910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

provided by teacher in the classroom helps in building students’

confidence.
SBKS KOS argrycinen @0BoDD Deegthe DEXFRY DosFobotod’

Jetchitheol
Options :

assignment
© Qo5

positive feedback
i 5o

lecture
5 aﬂg}ﬁo

negative feedback
BgBOERDS )05

Question Number : 18 Question Id : 5171449911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 2 Wrong Marks : 0

Effective communication across cultural boundaries relies heavily on maintaining
attitude.
SerdBosPS eodByoyd Sogrsie & JpbA ESFAoStop &S

eIpP6 SoLnod.

Options :

negative
1 % ©8Ere

positive

indifferent
&T58

aggressive
EEIED

Question Number : 19 Question Id : 5171449912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Lack of clarity and coherence in providing information, is an example of
barrier.
HaErearoe)) ©0B0SE0S Has Hdasn FrobE BESES L0

@%D@.& &orartes

Options:

organizational
f&cﬁ{;ﬁé

1. %



psychological
SeRas

emotional
mnﬁﬁé;")ﬁ

semantic

..,..-f'|I
4 ©B3080HHN

Question Number : 20 Question Id : 5171449913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The usage of mobile phones for many functions like : to talk , to watch movies, to
send emails is an example of

Sréptio, aldren drito, adanen Hodto Hod o Dive %0
BV SRS RAL e vidale) 8 &mrsries

Options:

media convergence

1 v g eons

out-door media
@erBoll Sreggsno

2. %

transit media
Barecae Eﬁjﬂiﬁfﬁsaﬁm

3. %

traditional media
. ArolEiordd SrggEno



Question Number : 21 Question Id : 5171449914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

10, 14, 22, 38, 70, ____
Options:
130

1. %

) 134

138

140

Question Number : 22 Question Id : 5171449915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
XTV, UQS, RNP, OKM,

Options :

HLJ

1. %



JHL

HIL

LHT

Question Number : 23 Question Id : 5171449916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word LOCAL 1s coded as MPDBM. then which word 1s
coded as DBMMES ?

2.8 0N §G 2265 LOCAL 7 3¢50 MPDBM 1P §6 TBaha &8, &) H¢0
DBMMEFS T 86 Sahadod?

Options :

CARROT
]

CODING
2. %

P CALLER

CARING

Question Number : 24 Question Id : 5171449917 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Two numbers are 1n the ratio 9:11. If 6 15 added to the first and subtracted from the second.
the ratio reverses, Then the first number 15

BOH HoWsED 0:11 DA IBES’ &ar) o, F0ede3 8 6 ShosaB, BO%ST
08 SISV, N1 8695)) @908, @160 e dowe

Options :

1. % 18

3 ® 36

4 % 45

Question Number : 25 Question Id : 5171449918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A loss of 12% 1s mcurred by selling an article for Rs. 132, Its cost price (in Rs. ) 1s

2,8 33606900 577132 § 9507080 T 5T 12% a0 36008, A &Y

Options :

1 @ 150



3 % 88

4 % 176

Question Number : 26 Question Id : 5171449919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

Statements:

No building is wall.

Some walls are rooms.

All buildings are rocks.
laSércen:

o) 29630907 YCh 56N,

3 fFesen Heoe.

BTN TF.

Conclusions:

l. No building is room.

. Some rooms are buildings -
1. Some rocks which are not buildings being walls is possibility.

ST e

. o) 236309e300° (1 S

1. §07 Adoen Haorew .

1. 25e5mren 52 £ Fere) FenTT 03 @540 4od.

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

1 [l follows



Either | or |l follows

3 | and Il follow

4 Il and either | or 1l follow.

Question Number : 27 Question Id : 5171449920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a class of 95 students, 40 play cricket, 50 play football and 10 play both cricket
and football. How many students play only football?

95 3000 DO SEHBE, 40 HOA (83 BT S, 50 H0O HE erS
e3¢5t 0N 10 :H0A (836 HOAW HE &S BoROE3N esche . Doeh
0O Aeedden HE S S esa esdErid?

Options :

1. % 45



Question Number : 28 Question Id : 5171449921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How 1s my father’s daughter’s mother’s only daughter-mn-law related to my wife’s son ?

> Sold LD $9 JBE Sken oo o0 E%%E derod grogiyo BOA &ob ?

Options:

1. ¢ Mother

> % Father

3 % Brother

Sister

Question Number : 29 Question Id : 5171449922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The distinetion between laukika and alaukika 1s made with reference to which one of the
following pramanas *7

58 50050 6T 8E S05¢ 35Ere0 82 18080 T3S &) (DeSTEPRE
DORVOHOV BAVVR0H?

Options:

1 % Anumana (Inference)



. Upamana (Comparison)

3 ¢ Pratyaksa (Perception)

S'abda (Verbal testimony)
4. %

Question Number : 30 Question Id : 5171449923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 15 signified by the term ‘hetu’ 1n the process of anumana
(inference) m classical Indian School of Logic?

SRES 2080HS 7S &5 0738 S ©EEd (AT EE) HEADS rdy’ o
TR, 81806 FES QO PDN0E?

Options :

Example Provided

. &t @wobodaliod
1. %

Statement of reason

5 @ 5ee0 CInE) (HBED

Proposition to be proved
QBHoSHOND (HBarED

Conclusion Proved

4 % 0oy Ahdosasob



Sub-Section Number : 4
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1DRE: 1808 235038 NP0 esrdomr Q. 31 D0G Q. 35 1) O
QTN [T0D0A.
Six different companies A, B, C, D, E and F manufactures a similar product . the

costs of raw material, labour cost and overheads per unit are given in the following
Multiple bar chart.

A.B.C,D,E 00 F &9 esth 238 3¢ S0ew 23 A 56 )83
O TN, SNANE DL, Bad DA SO0 CLFAOH LSbarGEen
800 a:50¢ 26 QS @ T OW.

Companies Manufacturing Costs
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Which of the companies has the maximum cost per unit?

2 00 AOTRESE (1B S DR &od?

Options:

1.% A
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If company B produces 5,000 units and sells them at Rs. 68, then the profit of the
companyis _

50300 B, 5,000 COHFRE et )& TR AT & &P, 68, @30, @3¢
500 erP0

Options :

Rs. 1,65,000

Rs. 1,40,000



Rs. 1,15,000
o

4 % Rs. 1,55,000
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Which of the following statements is true?
20 DELIOS DA DB0?

Options :

The labour costs, of E and F are same.
E 08050 F Giwg) S8 e 2,.3er &odraw.

The ratio of costs, Overheads and [abour is same for A, B and E.
eV, L,90TTGEE O Baabe) D )ed A, B HH0 Eedy
2 % QIR0 tG0EN00.

The ratio of total cost of A and that of D is same as the ratio of total cost of E
and that of F

A HB050 D GRE) [0 ¢ GInE) Aaa)es E Hdain F aing) Swedo
&8 BE) D IB8 HSrSoTT G0N0

Labour cost of E 1s less then labour cost of F

E 826 555 F 8ab 525 Sam) CEVR
4' S 22 22
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Company D can produce a maximum of 1000 units per day and company F can
produce upto 800 units per day. If these companies sell their products at Rs 60 and
Rs 80 respectively, then what percentage of D's profit is F's profit in the total
maximum production of 10 days?

5000 D 52050 (100 1000 CHrRED) 618 oD BN S0 F
G250 800 ORI G5 dred )b TODHOIL. & 0D 555 €65 )R
SN B, 60 HOO ¢F. 808 DFOWR), 10 Fare) 10a) toes 1B, F 030y,
erZ50 &' D g ere0 oed T0 ?
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1« 15: 16

4 % 9:10
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If after a few changes in the production process, the labour costs of B and C
become equal, then what will be the ratio of the total cost of the companies?
€658 |DEANES TR SPS)e ST 565, B SHO0 C Ty Sad s jen

oy W,

DSTFOOTT STOB, E0DRS VB0 P, D188 DOeh E0EN0H?
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The term Internet means ........
EID&)B&ES OET

Options:

1« Interconnected Network

5> % International Network

Interactive Network
3. #

“ Internal Network
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SWAYAM platform was developed by Ministry of Education, |IT Madras and ........
xaho S0EH E’ajéej‘% 3056 JerginoBes g, @.6.8 e, Hbd.....
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NPTEL

NCERT

5« UGC

Both Aand B
A 20Bddn B Bodhd
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What is the full form of USB as used in computer-related activities?
Eogrgtobtd D000 5965155530@65 SH@BPAODD . 0.

B 5o
Options :

Universal Security Block

Universal Serial Bus
2. ¥

United Serial Bus
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........ is a type of memory circuitry that holds the computer's start-up routine.

Sorgtath (@rB0df HiXSE émmﬁﬁ e €8, Hawd B8

Options :

RAM

1. %

ROM

RIM

Cache Memory
e
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In which year did the word ‘sustainable development’ come into existence?
QDesE @é]ﬁﬁg%’ o) Dod&so ¥ 08 DENDE?
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|y 1992

1978

1980

4 1987
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The tropical region lays between ...... [ 1 PO -
éshotie (ghodsn .....0s Dod......... 05 S0gsy Gsotnod
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1 ¢ 10, 10

, % 20,20
3 % 30,30

40, 40
E
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What is the total percentage of nitrogen gas in the air?
D& It arasngd Iwdo &0 Jod ?

Options:

12 per cent
12 avsso

21per cent
21 Jogso

78 per cent
3 v 18 A0

87 per cent
. 87 @0
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Which of the following processes explains the working of a geothermal power plant?
B o [HBch ﬁﬁméoﬂéaﬁ HEB srotn 50855 DRB06

Options:



use of potential energy to produce electricity
D &S BB Sogray 4§ VAo

use of thermal energy to produce electricity

L o D58 685G 6588 G0

use of kinetic energy to produce electricity
DFE SS B HSs=E)E 8§ AVDrrio

use of tidal energy to produce electricity

DG SHSH weoo 4§ DIDrHo
4. % Sl -
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Kyoto Protocol (1997) was related to.......
1997 8°%¢5° (8e5°sedS 08 Ho@0HoDHG

Options:

Protection of Ozone Layer

|k LES 5 S0t

Reduction in Green House Gas emissions

NS e ardin STPTPOM) A0
2.« el o) 0

Conservation of Biodiversity

5 x DETBS)S BB



Limiting the rise in global temperature
5555035 SBME? 1SHBeH H56so Saine
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Which was a famous Cultural and Educational Center of Northern University
in ancient India

@5 88 688 DEDTTOAD) DEP0BS SPodpBE &"‘;m@éo@ﬁﬁjﬁ
Options :

Takhyasila

1. %

Bikramshila
e

VValabi University
3, #

Malanda
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Educational TV was first introduced in India in the year......
308358° S0sBIr0mr LA RARY @”}ﬂﬂjﬁ%iﬁ Lo®SBo

Options :

1961

5 1959

5 x 1968

4 % 1965
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Which of the following is an example of non-conventional learning programme in
India?
5080 FrolHmrabess @5 SGEENNE Sursrdn

Options :

Information Technology
HEPTS Srosdss

Dentistry

el F3lalta vy
2. %

Journalism
. | EECHED



Hotel Management
Eree DB
4.+ =
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Every system of education is based on?

& Dog $t§é é?&@ el Gob

Options :

|deology of nation
v 3% grderedn

Social development

- ﬁ“Dq}JEDEG‘JE‘%Q
Intellectual development

3. % &55@'%
Skill development
SRR

4, %
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CLASS stands for
CLASS ®&me

Options:

Complete Literacy and Studies in Schools

1. =
Computer Literates and Students in Schools
3 Computer Literacy and Studies in Schools
Centre for Literacy and Studies in Schools
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Let f: G%—) R be a continuous function and f j‘[r}d;‘:%x. .r{o.gl'.Then the value
=i 0

of f|~|is
\4)
Options :
NE)
1. %
'\,E
4
2. %
‘\l'llg
2
3.¥
1
2
4. ®
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Define d: N* >R by d(x.y)=1+x+y7x.yeNand d(x.x)=0.

Consider the following two statements:

(A)  Neighbourhood of 3 with radius 3 with respect to the above metric 4 is {3}.
(B)  Neighbourhood of 3 with radius 6 with respect to the metric 4 is {1,3}.
Then which of the following is true?

Options :

(A) is true and (B) is false

1. %
- (A) is false and (B) is true
3, % Both (A) and (B) are false

Both (A) and (B) are true
4.9
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Let / and g be twice differentiable real valued functions on R satisfying f'(x)=3¢(x) and
g(v)=-3f(x) forall xR If h=f*+ fo+ ¢’ then ' =
Here 1*(v)=f(0f(¥).(f)(0) = f()g(0))

Options :

36 fg

-36 fe

[

18 fg

-18 fe
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Among the following sets in R?, the Euclidean space, an unbounded set is

Options :



() [+ <100;
2. ®
{y): P+p<1)
3. ®
J|}|.:*'L _1'} . 3‘2 e .1'.3 = 1}
4., &
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1

n =

Let > a,(x-3)"=1-x"+x*-x°+...(0<x<1). Then lim sup

Hﬁ‘
n=0 n—x
Options:
1

——

A/10
1.¢

1

-..T'
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Consider the statements:
(A)  The set of numbers in [0,1] whose decimal expansions do not contain the digit 7 has
Lebesque measure zero.

(B)  Every Lebesque measurable set is a Borel set.

Which of the following options is correct?

Options:

(A) is true and (B) is false

(A) is false and (B) is true

Both (A) and (B) are false



Both (A) and (B) are true
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The values of k& for which the series i‘ i—sml ’ converge are
i/ n )

Options :
1
fr=—
3
1.+
1
k<—
2. % 3
1
0<k<—
3
3. %
k<0
4. ®
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Let S={(x.y.2)eR®:x* + ¥’ + 2’ :1}. Then [{1‘3 +y+2)dA=
s

Options :
=
8
1. #
8
—
2. #®
3
—
3. #
4
—i
3
4.
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If a square matrix of order four has eigen values i«ji\/—_& , then which of the following is not

true?

Options :



’|_ e

A*+3I=0
2. %

A +342=0
3. %

A =94
4, %
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If (x,. 7.5, ) is the unique solution of the system of linear equations
140x + 97 y+97 - =237

97x +140y +97 - =151

97x +97y +140z = 280,

then (v +y2 +23)-

Options:



10

2. %
8
3. %
9
4, ®
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4 Is a square matrix of order 4 whose eigen values are 0,2,4,6. Using this information which
of the following can't be found?

Options :

Rank of 4

Determinant of 47 4

Eigen values of (4+1)™

Eigen values of 4’4
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Consider the following two statements:

(A)  f(x.v)=x"+4xy+ 1 has no minimum at (0,0).
(B) f s not positive definite.

Choose the correct option among the following.

Options :

(A) is true and (B) is false

1. %
- (A) is false and (B) is true
Both (A) and (B) are true
3. ¢
Both (A) and (B) are false
4, %
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Let 7and 7 be subspaces of R(R) and dim¥ =dim¥ = 6. Then dm(U/(17) will be at least

Options :
3
1. ¢
4
2. %
5
3. %
6
4, %
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Consider the following statements concerning three subspaces U,V,W of a vector space

X(F).

(A dm(U+V+W)=dmU +dm¥ +dm ¥ -dm(U (V) - dm( (1) -dm(U [ F) is
always true.

B) dm(U+V)=dmU+dmV +dm(U(\V) is always true.

Choose the correct option among the following.

Options :

(A) is true and (B) is false



(A) is false and (B) is true

2. %

Both (A) and (B) are true
3, #*

Both (A) and (B) are false
4.
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Let T be a linear operator on R3(R) given by T(x.y)=(~y.x). Then the trace of 7° is

Options :
0
1. #
-1
2. %
-2
3. v
2
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a b
Consider the matrix 4= ,where a+b=c+d . Then the eigen values of 4 are
G

Options :
a—c. ctd

1.9

e Dl sl 1 |
2. =

a+c,c—d
3. =

a—c.c—d
4. ®
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]11 —cos2x |,

5 ax =

0 X
Options :
T
2

1. #
T

2. ¥
T
4

3. %

2.-"
4, %
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If f(z)=u(x.y)+iv(x,y) is analytic in an open connected set Q and au+bv+c=0 for some

),

constants ¢.5.c, then § :
|:|=1 e

Options :



2mi

1_@5
—27i

2_2&5
T

3. %
0

4.
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The number of analytic functions f in a neighbourhood of origin and for which

f'; L ‘ +f \ Al 0vneNis
\n) 7 \n)

Options :
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The radius of convergence of Taylor series of f(:):%‘ir about the point z,=1+7 is
457"+

Options:

'\,'II 3;

2]
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<1, then the number of poles of f(z) in

If f(z)= ZEH =" is Maclaurin series of £(z) in
n={

<2 is

Options :
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If ¢ is the circle - =2¢" 1 [{}.25;'] . then (5u13|

C \,

‘(f: =

Options :
0
1.+
al
2. %
2
3. %
— 7
4. %
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Consider the function f(z)=% a,=".a,=1,a,=~13a, +4a,,~a,,=0.n=23.....If Z denotes
n=0

the number of zeros of f(z) and P the number of poles of f(z), then Z-P-=

Options :



2. %
2

3, ®
-3

4, ®
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The circle of convergence of f(z)= is

about the point z, =

3 | —

(22 41)(z+1+1)

Options :
2:-1=43
1. #
| —1| — '\.'I'._E
2. ®




2z -1=V7
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Consider the polynomial f(x)=x"+ 2 -3 —4x+2 over the field of rational numbers Q. If
E is the splitting field of f(x) over @, then the degree of E over Q is

Options :

4
1. %

3
2. %

2
3.

1
4, %
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Which of the following numbers is not an irreducible element over Z[i]?

Options :
3
1. #
3+2i
2. %
1-i
3. %
O-i
4.
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The number of subgroups of the permutation group S4 is

Options:

20



25

2. %
30
3.
18
4, %
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The number of distinct conjugate classes of the Dihedral group Ds is

Options :

2
1. %

4
2.9

6



10
4. %
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Which of the following pairs of polynomials in Z:[x] have same roots in Z-?
Options :

F(=3"-4x", g(x)=x"+3x

f(xX)=x>—4x>, g(x)=x"+2x

2. %

f(xX)=x"—-4x, g(x)=x"+x
3. =

fX)=x"+2x+3, g(x)=x"+3x+1
4, ®
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A field among the following is

Options :
Clx]
{x2+2)
1. %
Q@[x]
(x*+4)
2. %
Zs[x]
(x2+3x+4)
3. v
Zs[x]
(x24+2x+2)
4. %
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|p

Consider the subring R={=: p.ge Z.qodd; of (Q,+, .). Then the number of maximal ideals
U )

in R is

Options:



1.4

2
2. ®

3
3. #®

4
4. ®
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Let E be the extension of  of smallest degree such that all the roots of
f(x)=2x"-x -3r ~4v+6<Q[x] lie in . Then which of the following is not a correct
statement?

Options :

x* +1 splits completely into linear factors in E.

E is the splitting field of x* + 6x +10.



E is the splitting field of x* +x* +9x+9.

x* —x*> -2 has all its roots in E.
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Let neN, 4 ={n.n+Ln+2..} and T={p.4 } . where ¢ is the empty set. In the

topological space (N, T) consider the following statements:
(A)  The closure of {2,4,6,8,...} is N.

(B) Theset{1,35,7,...}isan open set.

(C)  There are only three open sets containing 3.

Which of the following options is correct?

Options :

(A) is true, (B) is false and (C) is true

(A) is true, (B) is true and (C) is false

All the three statements are false



All the three statements are true
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Consider the following statements:

(A)  Every completely regular space is a Hausdorff space.
(B)  There are normal spaces which are not compact Hausdorff spaces.
Choose the correct option among the following.

Options:

(A) is true and (B) is false

1. #

(A) is false and (B) is true
2. #®

Both (A) and (B) are true
3. %

Both (A) and (B) are false
4, %
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lim {1—@+U§+...—“\E—H—hg€n]:

H—0

Options :
-1
1.¢
1
2. #®
0
3. %
2
4. ®
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"

lim —ﬂsjn .1:|c053 ¥ dx =
0

n—x p

Options :



S|

’|_ )
5
3T
2_ e
2
3T
3. %
4
3
4. %
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|

0,
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)
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=

Consider y'(x)+2y(x)=f(x) for x>0,(0)=2 and f(x) .Then y(x)=

B o
=

L]

m

Options :

2¢ coshx for x€[0.2) and €™ for x[2.)



2¢2* coshx for x[0.2) and €™ for x <[2.0)

2¢™* cosh2x for x [0.2) and e for x[2.)

1+coshx for x<[0.2) and ™ for x e [2.20)
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Let f and ¢ be two differentiable functions on R suchthat /"+ f=¢ and ¢"+g=f. Then
f+gisnecessarily a

Options :

_— constant function

linear function
2. %

quadratic function



polynomial function of degree 3

4. %
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The real values of p for which y'+2py'+y =3 admits solutions y= f(x) with infinitely many
critical points are

Options :

7l <1
1.+

|p S
2. #

|p >1
3. %

|p =2
4. %
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Correct Marks : 2 Wrong Marks : 0

The set of values of L >1 such that +*y'(x)+ 1(x)=0,1<x <L, ¥(1)= (L) =0 has a non zero
solution is

Options :

1.
[ Inx ‘
leVB -neN.nodd!

2. = | &
~|€‘f‘ neN |

3. ) | o
le® -ne N.nodd |

4, % * :
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y=(x)is the solution of " ~1"-/~2y=0 such that lm y(x)=0. Then the values of a,b.c

and ¢ satisfying a1(0)+by'(0)+c)"(0)=d are respectively

Options:



1,0,1,1
0,1,1,1
1,101

1,1,1,0
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Consider the basis of solutions of Za;—l =0. Then the dimension of subspace of real
n=0 ax

solutions of this differential equation that satisfies lim y(x)=0 is

=0

Options:

2
1. %

e
2. ¥

4

3, #
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The eigen values of the partial differential equation

- -2
ou o ,
= k. u(x.0) = £(x).u(0.1) = 0. u(L.1) = 0 are
or  éx’
Options :
2nmw ,.\
! neN }
. )
2
7
I(n2 | ZHENFL
I\ |
2.9

(nr)

neN;

e -,
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The number of solutions of the boundary value problem y"+4y =0, y'(0)=L y(7)=-1lis

Options :
one
1. #
two
2. %
Zero
3.

infinitely many
4. %
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; : : N = &z o'z :
The partial differential equation — +6 -16—=0is
ex” ax oy oy
Options:
parabolic

1. %



hyperbolic
2. ¥

elliptic

non homogeneous

4, #
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Let u(x.r) be the solution of u, —9u_=0.—w<x<ow >0,

)= reo={ T H<3
u(x.0) = f(x _.\|\0 i’ M:vi‘
1 if |¢<2 f-
H‘{-T-U)=§(?f}=-=| 7 |1| . Then u| (’.J.l =
| 0 i |>2 &
Options :
7



2 |~

s | =2

| =
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The number of solutions of y"+16y =smx. y(0) = 1‘ ; ‘ =11is

Options :
one
1. #
ZEro
2. %
two
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The largest interval containing zero on which the solution of 1'=2x", 1(0)=1 is continuous is

Options :

(-2,2)
1. %

(-1,1)
2.

(-3.0)
3. %

(-1,0)
4., =
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S

If S, =) j*, then =2 is a quadraticin 1, say ar’ +bn+c, where a+b+c=

Jj=1 “n

Options:
1
1.9
2
2. %
3
3. %
4
4, %
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Newton’s iteration formula to the square root of 5 is

Options :




N

‘T?‘i' B ‘T?‘i'—l 3 -
:.'?f—].
2. %
. 5
LXe = XooqF ——
ln—l
3. ¥
S
3x, =x,_, +—
ln—l
4. %
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The least square line that can be fit for y(x)=¢" on the interval (-1,1)is y=a, +a,x, where

=

Options:

cos 1
1. =

cosh 1
2. 4



sinh 1

sin 1
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Suppose y = f(x) is a periodic function of period 3. A trigonometric sum that includes the
following data points of y= f(x)

X 0 1 2
f(x) 0 1 1

: . 2r ) : (3)
IS y(x)= k! l—cosTx‘ for some appropriate k. Then y = E

-

Options :
1
1. #
4
2. 3
3. % &



Question Number : 103 Question Id : 5171449997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

1 1

Let J(y)= [ (¥, I(y)=j ydx. Then the extremals to J subjectto I(y)=1 and the
0 0

boundary conditions v(0)=v(1)=0.v(0)=v(1)=01is y=ax’ +bx’ +ex’ ,where a+b+c=

Options:
1
1. %
0
2.
-1
3. %
2
4. %
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1
Consider the functional J(v)= [(y‘z —y* +2xy)dx . Then the extremal of J subject to
[

10)=0.v)=01is y=x—ksmx, where k=

Options :
cosi
1. %
sin
2_ w
cosec
3.4
secl
4, ®
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The number of extremals of J(y) = [(y* - 4y*)dx subjectto 1(0)=0=1(7) is
0

Options:



1. %

1
2. %

2
3. %

o
4. &
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1
The solution of the functional J(y)= _[e"‘ Ji+y7 dx is
1]

Options :
y(x) = aﬂc_li il i—b
a |
1.+
y(x) =cosec™ £ |+b



f x4

ko |
y(x)=cos g M l—b
LY e !

y(x)=sm"
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1
The eigen values of g(x)= f(x)+/ [[.\'+ t)g(1) dr are the roots of the quadratic equation
0

Options :

A2 _124+12=0

1, %
A 4120—-12=0
2.
A £121512=0
3, %

B 121-12=0
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The initial value problem corresponding to the integral equation

y(x)=1+ [ (x=)F(t)dr + A[ (1 = x)p(t)dr is
] o

Options :

V' (X)—A(x)=F(x), ¥(0)=L11'(0)=0

1. %
V(X)) + A(x) =F(x), y(0) =L y'(0) =0

2. ¥
1" (x) = 2An(x) = F(x). W(0) =1, ¥'(0)=0

3. %
V() +24(x)=F(x). v(0)=11(0)=0

4, =
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A ball falls from a height onto a fixed horizontal plane. The coefficient of restitution is e and
the height reached by the ball in the n™ rebound is hn. If the ball travels a distance d before
coming to rest after a time ¢, then the ordered pair (d, t) is

Options :
— h cothl. i |I—hl
\ I—EM g )
1.¢
‘hcathl. = Ill‘;g
| 1-e\ h
2 %
. iz o
—h tan hl. Sz, ||£
| 1-e\ g |
3. %
h cothl, i III'.JE’J :
\ 1-e\ g |
4. %
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The torus formed by rotating the circle x* +(y—a)’ =4’ (a > b) about x—axis has moment of

inertia is %{- , Where M is the mass of the body, in which k=

Options :



Aa® + 5b°

1, %

Sa* +4b°
2_ 4

3a® +4b°
3, %

4a® +3b°
4.

Question Number : 111 Question Id : 51714410005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

From a vessel containing 3 white and 3 black balls 4 balls are transferred into an
empty vessel. From this vessel, a ball is drawn and it is found to be white. What is the
chance that out of 4 balls transferred 3 are white and 1 black is

Options :

119

1/8

17



1/6

Question Number : 112 Question Id : 51714410006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
Match the inequalities
a) Holder's inequality Gy ELI1XaY P22 E PP+ E P
b) Lianpunov'sinequality (i) E[| XY |]S[E X [E Y]] 12
c¢) Triangular inequality.  (iii) E[ [X[7] 2 <[ E [X]}] '°

L
d) Minkowski's inequality. (iv) E[ (X+Y)2]"2 < (E |X]9)V2 + (E|Y|?)'”
(v) E[(XY)q < E[(X?)] E[(Y2)]

Options :

(@) «= (Iv); (b) < (iii); (c) < (v), (d) < (i)

1. %

(@) <= (il); (b) < (iii); (c) <= (iv), (d) < (D)
2.

(@) « (ii); (b) < (iv): (¢) <> (i), (d) < (v)
3. %
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Let {Xn, n=1} be a sequence of random variables satisfying the probability and
property are given below. Among the following statements Correct statement(s)
is/are:

(i) P[Xn=n]= Tt and P[Xn=0]=1 - Tl; does not hold almost sure convergence.
(i) P[Xn=zn"] =", > does not hold convergence in probability.
(iii) P[Xn=n] = iz and P[Xx=0]=1 - i:does not hold convergence in quadratic mean.

Options :
(i) . (ii
1. %
(if) , (iii)
2. %
(1) . (iii)
3. %
(i) . (if) . (iii)
4. &
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Let {Xn, n=1} be a sequence of random variables satisfying the probability and
property are given below. Among the following statements correct statement(s).
(i) PXn=z2"=20"1& P[Xn=0]=1-22" holds Central Limit Theorem.

(if) U[-n, n] does not hold Central Limit Theorem.

(iii) P[Xn == 2" =% does not hold Central Limit Theorem.

Options :
e .00
5 % (if), (iii)
3 @ (iif)

(1) (i) (iii)
4, %
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Among the following statements, identify the carrect statement(s):

(i) A random sample of size 100 is taken from a population whose mean is 60 and
variance is 400, using central limit theorem, the probability for mean of the
sample will not differ from 60 by more than 4 is 0.9546. (Assume: P[0<z<c]
values are 0.1112, 0.4773, 0.6826 when c=1, 1.2 and 2).

(i) Central limit theorem gives us the fact that the empirical frequencies of many
natural populations exhibit a bell-shaped curve and it provides a simple method
for computing approximate probabilities of sums of independent random
variables.

Options :



1. %
(i)
2. %
- (1) & (ii)
Neither (i) nor (ii)
4, %
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Among the following statements(s), identify the correct statement(s) related to a

characteristic function ¢(in the usual notations):

(i) A function ¢ on R is a characteristic function iff it is sem-definite and continuous.

(if) A function ¢ on R is a characteristic function iff ¢(--2)=0, ¢(=2)=1, d(t)=d(-t), convex
and Hm¢u{’[)=0.

(iii) A continuous function d(t) is a characteristic function iff 4(0) =1, a(x, A) = [l4(t-u)
™ dt du and it is bounded over (-»,=)

Options :

(i), (i)
1. %

(iif)



(i) (ii) & (iii)

None is correct
4. &
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Identify the correct statement among the following: (in the usual notations)

(i) If {Xn, n =21} be the sequence of random variables with distribution function
Fn(x)=0, if x>c; and Fn(x) =1, if x=C; then the modes of convergences in probability
and law are equivalent.

(i) Consistent estimator is not necessarily unbiased, may not be unique, may be
meaningless and Tn(X) is consistent if V(Tn(x))>0 as n—= and Tn(x) as no= is
unbiased.

Options :

Neither (i) nor (ii)
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Let {Xn, n= 1} be a sequence of square integrable independent random variables with
EEZI% < w then the sequence holds ____law of large numbers.

Options :

Bernoulli's weak

1. %

Khintchin's weak
2. %

Chebychev's weak
3. %

Kolmogorov strong
4.+
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Match the density f{x) with the corresponding Variance(s)

a) 6x(1-x); 0<x<1. (i) 1/20
b) 152 e™: x=0. (i) 3
c) Y (x+1); -1<x<1. (iii) 2/9

d) x*if 0<x<1; and 3(2=x)3 if 1=x=2. (V) 17/300
(v) 1/24

Options:

(@) & (i): (b) < (iii): (¢ Jex(ii) . (d Je>(V).

1. %

(@) < (ii); (b) < (iii); (¢ )e=>(i) , (d Je>(iv).
2. %

(@) < (i) (b) <= (ii); (€ )=(iii) , (d )=(iv).
3.

(@) < (ii): (b) &> (iv); (c ) (i) . (d )ex(ii).
4, %
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Among the following statements, identify the correct statements

(i) The equality of mean and variance is necessary and sufficient condition for a
power series distribution to be Poisson.

(i) The probability that three points selected randomly lie on a circumference of a
circle will lie on a semi-circle is 0.75.

Options :

Neither (i) nor (ii)
4, %
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Among the following statements, identify the correct statement(s)(in the usual

notations):

(i)  If the moments of random variable X are E[X"] = 0.6, r=1,2, ... then P[X=0]=0.4
and P[X=1]=0.60.

(i) If fix) = 2 x>0 then the density of Y=x* is Weibull distribution with
parameters (2, 1/3).

Options :

(i)

1. %



(i)

(1) & (i)
3.v¥

Neither (i) nor (i)
4, *®
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The daily consumption of electric power in millions of kilowatt-hours can be treated as

a random variable having gamma distribution with parameters /.= % and a=3. If the
power plant of this city has a daily capacity of 12 million kilowatt-hours, what is the

probability that this power supply will be inadequate on any day?

Options :

0.0625
1.9

0.0375

0.375



0.625
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Among the following, identify the correct statement(s) (in the usual notations):
(i) The distribution function of Cauchy variate is F(x) = %E + Tan‘lx}where O<x<en.
(i) flx)=1-|1-x| for 0<x<2 is a probability density function of random variable X.

Options:
(1)
1. %
(i)
2. ¥
Both (i) & (ii)
3. %

Neither (i) nor (ii)
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If %1, X2, ... . xn be the random sample of size 'n" drawn from an exponential

distribution with density f(x) = ae™; x= 0 then the distribution of w=xXr+1)-Xr) is
(in the usual notations)

Options :

A -
1. %

o E_'FG'.W
2. %

(r+1)o el ewe g gow

(n-r)o. e-n-rew

Question Number : 125 Question Id : 51714410019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

If X and Y are two independent and identically distributed standard Cauchy variates
then the density of U=XY is (in the usual notations)

Options :



1
A (1+x2)(1+y2)

2log |u|
(u-1)
2. %
log|u|
3 % T(uz-1)
2logu
mu+1)(u—1)
4. %
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Among the following, identify the correct statements, based on the relation between
Z. t, F and y%(in the usual notations):
(i)  Ifki=1and ke=n then t? = Fip.

(i) IFks=n and ko=-» then Z= % log [
(i) If ki=1 and ka== then F1= = %),

B
(iv) Ifks=n and ko=-: then F= H

Options :

(i), (ii)



(1), (iii)

2. %

(1), (iif), (iv)
3. %

(1), (if), (i), (iv)
4.
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Among the following statements, identify the correct statement(s) (in the usual

notations):

(i) If X follows Binomial(n,p) where p follows Uniform over (0,1) then X follows Beta
First kind

(if) If X follows Binomial(n,p) where p follows Beta First kind then X follows Beta
First kind

(iii) If X follows Binomial(n,p) where n follows Poisson then X follows Negative
Binomial.

Options :

(1)

(i

(iii)



(1) (i)
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Among the following statements, identify the wrong statement(s) (in the usual
notations):
[) The confidence interval with 1-u confidence coefficient for the variance of the
normal distribution, when mean is known, is
P[ u-y%s%<0%< 4282 ] = 1-0 where y2is with level % a.
i) The confidence interval with 1-u confidence coefficient for the mean of the
normal distribution, when standard deviation o is known, is
P[i-Z o/\ngusi+Z olyn | = a where Z is with level % a.

Options:
(i)
1. %
(i)
2. %
(1). (i)
3. %

Both (i) & (ii) are correct
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Among the following statements, identify the correct statement(s) (in the usual
notations):
(i) Letx1, x2. ... xn be a random sample of size 'n’ drawn from logistic family has
monotone likelihood ratio with location parameter 6.
(i) Let x1, x2, ... xn be a random sample of size 'n’ drawn from Beta(a,b)
distribution of first kind then the family has monotone likelihood ratio for ‘a’.
(i) Let x1, x2, ... xn be a random sample of size 'n" drawn from Hypergeometric
distribution with parameters (n,m,M), where m is the only unknown parameter
then the family follows monotone likelihood ratio in x.

Options:
(1), (i) (i)
1.+
(B (i)
2. %
(i), (ii)
(1), (iii)
4. %

Question Number : 130 Question Id : 51714410024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No
Correct Marks : 2 Wrong Marks : 0

Among the following statements, identify the correct statement(s) (in the usual
notations):
(i) Letx1, xa, ... xn be a random sample of size 'n" drawn from a population with
density flx) = 6. where x21,6>0 then [[™-, x, is minimal sufficient for 6.
(if) Letx1, x2, ... xn be a random sample of size 'n’ drawn from Uniform (0, 6), 0<6<1
then xn) is the sufficient statistic for 6.
(iii) Let x1, x2, ... xn be @ random sample of size ‘n’ drawn from Uniform (6-'2 , 6+%2),
then T=(x(1), xm) is jointly sufficient statistic for 8 is not complete.

Options:
(1), (i)
1. %
5 % (if), (iii)
(1), (iif)
3. ®
(1), (i), (iii)
4.
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Among the following statements, identify the correct statement(s) (in the usual
notations):
(i) AtestT of the Ho is said to be unbiased if the probability of rejecting Ho when it
is false is at least as much as the probability of rejecting Ho when it is true.

(i) AtestT of Ho: 6 = 60 Vs Hy: 6 =0, is said to be minimax if for any T*,
Max{R(T,60), R(T,81) = Max R({T",60), R(T",60)}.

Options:

)

Neither (i) nor (ii)
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Among the following statements, identify the correct statement(s) (in the usual

notations):

(i) A sample of 900 members is found to have a mean of 3.40 cm. The test statistic
value for testing can it be reasonably regarded as a simple sample from a large
population whose mean is 3.25 cm and SD 2.61 cm is 1.72

(if) standard error S.E. enables us to determine the probable limits within which
population parameter may be expected.

(i) The discrepancy between observed and expected value of test statistic is less
than Z,, times of standard error.

Options :



(1), (i), (iii)

L (). (i)
NPRNOY0)

(i), (iii)
4. ®
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The best critical region suggested by Neyman-Pearson takes formr = fi / fo> ¢, the
constant ¢ can be obtained by (in the usual notations)

Options:

Plr>c]<1-a/2

1. #

P [r>c] <a
2. ¢

P[r<c]=zc.
3. %



Plr<c]<1-af2.
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The ranks of 20 observations of three groups of different feeding materials are given

below.
A4 B TN1T5 1317
B: 2 457 3 B

C:16 20 1219 18 10 9 4
The suitable test statistic value for testing Ho that the three feeds are equally effective
is

Options :
5.99
1. %
5> 3.98
2.97
3. %
2.07
4. %
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Given the score of two groups of persons, with sizes 7 and 9, scores are collected to
test the distribution of scores are identical:

A:10 13 12 15 16 8 6

B:20 14 7 9 17 18 19 25 24

The suitable test statistic value to test the hypothesis is

Options :

U =13
1.4

R=16
2. ®

D=9
3. %

No test is applicable
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Among the following statements, identify the wrong statement(s):

(1) Most internet polls along with call-in, text-in, write-in polls are representative of
some larger population of interest and attracts people who feel strongly about
the issue.

(11) In a program, viewers were invited to call one telephone number to respond
“Yes" and another to respond “No” on an issue. There was a charge for calling
gither number. More than 1,86,000 callers responded and 67% said “No". This
is an example of Convenience Sampling.

(1) When the participation in the survey is optional, it can be described as non-
response.

(1v) People answering to the question that they do not understand is an example of
response bias

Options :

(1), (ity & (iii)
1.+

(1), (iii)
2. %

(iif), (iv)
3. %
(1), (i), (iv)

4, %
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In a two-stage sampling with equal first stage units, units of each stage are generally
selected using

I.  Simple Random Sampling

. Stratified Random Sampling

ii.  Sampling with Replacement

Iv.  Sampling without Replacement

Options :

() (iii)
1. %

(if) (iii)
L, 0w

(i) (iv)
4, %
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Among the following statements, identify the correct statement(s) (in the usual
notations):

) Inagroup of 200 workers numbering from 1 to 200, a sample of 10 workers
are selected using systematic sampling. Then the probability for selecting one
worker from the numbers 120-140 is 1/10.

i) Let Vian, Vprop and Vopt be the variances of the usual estimators under Simple
random sampling, proportional allocation and optimum allocation for a given
sample size. If Ny is large, then Va2 Vprop2 Vopt.

Options :



1. #®
(i)
2. ¢
Both (i) & (ii)
3. %
Neither (i) nor (ii)
4, %
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Among the following statements, identify the correct statement(s):

(i) The Kruskal -Wallis test is based on the assumptions, that the variable under
study is continuous, the observations are independent within and between
samples and populations are identical except possibly in respect of median.

(i) The probability density function of two random variables X and Y is given by

f(x, ¥) = 1.5(x%+y?) where 0 <x, y < 1 then the regression line of Y on X is

Yex4
73 73
Options :

(1)



Neither (i) nor (ii)
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Among the following statements, identify the correct statement(s) (in the usual
notations):
(i) The average loss of information due to missing value in a Randomized Block
Design with 5 treatments in 6 blocks is 20/21.
(i) A 2 factorial experiment conducted in two blocks with treatments:
Block-I: (1) (a) (bc) (abc)
Block-Il: (c) (b) (ac) (ab)
the confounded term is BC.

Options :

(i)

(i)

(1) (i)

neither (i) nor (ii)
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Among the following statements, identify the wrong statement(s) (in the usual

notations):

(i) Split plot design can be treated in general as factorial experimental design with
unequal number of levels in the factors.

(i) Split-plot design is a confounded design in which the main plot treatments are
confounded with whole plots.

(iii) The error degrees of freedom for main plots and sub plots are p(r-1)(g-1) and
(r-1)(p-1) respectively.

Options :

(i)
1.9

(). (i)
2. %

(if), (iif)
3. %

All
4, %

Question Number : 142 Question Id : 51714410036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No



Correct Marks : 2 Wrong Marks : 0

Let rv be the replications of v treatments and ky be the b block sizes of a general
incomplete block design, then the C matrix is (in the usual notations).

Options :

N'N- rEw

1. %

Q‘.|I.r"'u"'1N’N
rlv - N k*'N

(r=2.)lv = AEw

Question Number : 143 Question Id : 51714410037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Among the following statements, identify the wrong statement(s) (in the usual

notations):

(i) In a hypothetical market, there are only two brands A and B. A customer buys
brand A with probability 0.7 if his purchase as A buys and buys brand B with
probability 0.4 if his last purchase was B. The proportion of customers buy

brand A and brand B in the long run is [0.667 0.333].

01
(i) The stochastic matrix P= [3 3] Is regular.
2 2

Options:



(i)

(1), (i)

Neither (i) nor (ii)

Question Number : 144 Question Id : 51714410038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The nature of states of the Markov chain with transition probability matrix

0 10
P=|: 0 Z|is
2 2
0 il O
Options:
Finite irreducible and all states are ergodic.
1. #®
Finite reducible, all states are ergodic, all states are null persistent.
2. %

Finite irreducible and all states are ergodic, and all states are non-null
persistent.



Finite irreducible, all states are not ergodic, all states are non-null persistent.

Question Number : 145 Question Id : 51714410039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mean vector and variance covariance matrix of [Y Z1 Z2]' are [ 2 0] and

W 1 =1
1 7 3 | The bestlinear predictor Y= Bo+p1Z1+B2Z2 estimate of  vector is
-1 3 2
Options:
3 4 0]
1. %
[3 2 0]
2. %
[3 1 -2]
3.¢
4w [3 2 2]

Question Number : 146 Question Id : 51714410040 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The first principal component when the covariance matrix = H _130] s (in the usual

notations of variables)

Options :

0.999 X1-0.040 X2

0.040 X1 + 0.999 X2
2. ¢

0.707 X1 + 0.707 X2

0.707 Z1 + 0.707 Z>

Question Number : 147 Question Id : 51714410041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The generalized variance of a fri-variate normal distribution with sample covariance

4 3 1
matrixS=(3 9 2|is
P 2 1

Options :



4.667

‘|. E
14
2.
L« 36
98/18
4. ®

Question Number : 148 Question Id : 51714410042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The arrival rate and service rates of a M/M/1 queuing system are 3 and 4, then the
probability of the system emptiness is

Options :
0.15

1. %

> 0.25
0.35

3. %



0.45

Question Number : 149 Question Id : 51714410043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Among the following statements, identify the correct statement(s):

() Ina pay-off matrix, if each element of a column is dominated by any other column
then delete Inferior elements column

(i) If the game does not have a saddle point, then Simplex method is used to solve a
3x3 game.

(ili) Graphical method is used for games of order 2 x n or m x 2.

Options :

| & i
1. #

| & i
2. %

i & iii
3. %

I, 0 & iii
4.

Question Number : 150 Question Id : 51714410044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In an inventory EOQ model, among the following wrong assumptions is / are

(i) Annual demand is unknown and not a constant

(il) Estimates of carrying and ordering costs are inaccurate

(iil) The ratio of ordering cost per order placed to carrying cost as a percentage of
average inventory is always a constant.

(iv) Instantaneous receipt of orders not occurs exactly when previous inventory is

used up.

Options :

All
1.4

(if) & (iif)

2. %

(iii)
3. %

(1) (it) (iv)



